Honors Precalc Unit 3 Quiz 1 Review
Evaluate the following without a calculator.
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U3LT1- | can identify properties of an exponential and logistic function and | can graph them.
Graph the following function and give the necessary information.
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Find the equatlon of the exponential function where f(0) = 6 and f(1) = 2. Then, evaluate f(—1).
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Find the equatlon of the exponential function where f(0) = 12 and f(2) = 3. Then, evaluate f(1).
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U3LT2 - | can identify properties of a logarithmic function and | can graph them.
Graph the following
12. Write the equation of the graph given the parent function f(x) = logz x with the foliowmg transformations:

- Vertical stretch of five
- Translated two units to the left
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U3LT3 - I can apply properties of logarithms and exponents to simplify expressions. | \
Write in terms of log with base 10. Expand \O% g\lg- E(Ztofjsx ¥ la&sl‘f
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Simplify the following
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Simplify completely and show all work:
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Expand the following
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Expand the following
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Condense the following
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Expand the following
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Condense the following
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Condense the following
23.loge 4 + logg 2 — loge 3
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